ERZ-SST-MD HEIEF €lesa TOHATSU

Bk - AEBIZ

@ERGO

BF ZFEp
HE B8 | #E
PA+IEA] | Ba%R | SUS303

R g AF
= t
— ! ™ T *
R ‘ ~ N
: < II
3 ‘
d1 d
d
e it # R|d|L|D|H|HL| h|h1 h2|h3|d1]| I llﬁ%(ggglﬁ#
198135 |ERZ.63 SST-M6-MD 8| 63 | M6 |72.5| 19 |38.5(42 | 10| 31 |3.5|30 |13.5/ - [135] 24 | 36 | A
198155 |ERZ.78 SST-M8-MD £IF | 78 | M8 |89.5| 23 (45 [50.5| 14 | 36 | 3.5| 35 |16 - |16 26 61 A
198429 |ERZ.63 SST-p-M6x16-MD| ‘ALF | 63 | M6 |72.5| 19 |38.5]42 - | 31135 30|135] 16 |13.5| 24 40 A
198433 |ERZ.63 SST-p-M6x25-MD| A% | 63 | M6 |72.5| 19 [38.5]42 - [ 3113530 (13.5] 25 |13.5| 24 42 A
198673 |ERZ.78 SST-p-M8x20-MD| ‘AL | 78 | M8 [89.5| 23 |45 [50.5| - | 36 (35|35 (16 | 20 |16 26 69 A
198679 |ERZ.78 SST-p-M8x40-MD| ‘A% | 78 | M8 [89.5| 23 |45 [50.5| - | 36 |3.5| 35 |16 | 40 |16 26 80 A
ps. Jit53 | @k | [ 10 [X]
- ERBE - -30°C~130°C 198135
BRHE

- IRAL5001 TE:#k) PARR B SRRIANIE > el BRUSEA - T8
FDA #2%E(FDA CFR21 f1 EU 10/2011) » 30 B BJ&FR A ARMBI B RSH
BREZ

R LEUNELEGIES T ES

- AR RS A ERE R R M= 2R G5

@ & A EREA

- BEEIE T o IRBERERRVERER M - WRHEF BRI - MEETTHN
- FRBRIE T - 1EEE(SUS302) 1 BB BRI IIEE S R

- BIETEDEIC0HER - SRIGIEIT - EREEETEERA BTN



